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questionis not attempted. For each wrong answer 1 mark will be deducted.

WWW$W1%WWI

8. For each question you will be awarded 3 marks if you have given correct answer and zero marks if any

ﬁﬁﬂﬁqﬁzﬁmmﬁwzﬁ%ﬁsw%ﬁﬁmﬁzﬁs‘%ﬁwméﬁaﬁﬁuﬁrﬁoaﬁsﬁmm@y

~

Page: 11/A-1



AlIAO-2014

1. Balance as per cash book is 5,000. Cheques issued but not
presented for payment 2,000 and cheques sent for collection
but not collected Rs.1,500. Bank had wrongly debited account
of firm by Rs.20. Balance as per pass book will be
(a) Rs.5,500 (b) Rs.5,480 (c)Rs.5,700 (d) Rs.8,300

2. A purchase of Rs. 1,870 by cheques has been wrongly posted in
the cashbook as Rs. 1,780. This has the effect of
(a) Increasing the bank balance by Rs.90
(b) Decreasing the bank balance by Rs.90
(c) Increasing the bank balance by Rs.180
(d) Decreasing the bank balance by Rs.180
3.If bank balance as per cashbook differs from that appearing in
the current account statement, then the balance considered for
finalizing the accounts is of
(a) Adjusted cash book.
(b) Cash book before any adjustments.
(c) Pass book.
(d) Not taken to final accounts in case of difference in the
balance.
4.The cashbook showed an overdraft of Rs. 2,000 as cash at bank,
but the pass book made up to the same date showed that
cheques of Rs. 200, Rs. 150 and Rs. 175 respectively had not
been presented for payments; and the cheque of Rs. 600 paid
into account had not been cleared. The balance as per the pass
book will be
(@) Rs. 2,150  (b) Rs. 2,075 (c) Rs. 1,475. (d) Rs. 1,925.
5.When money is withdrawn from the bank, the bank...... the
account of the customer
(a) Debit (b) Credit (c) Either (a) or (b) (d) None
6. Parties to a bill of exchange are
(a) Drawer. (b) Drawee. (c) Payee.
7. Noting charges are paid at the time of of a bill.
(a) Retirement. (b) Renewal (c) Dishonour  (d) None
8.Priya sold goods to Nidhi for Rs.1,00,000. Priya will grant 5%
discount to Nidhi. Nidhi requested Priya to draw a bill. The
amount of the bill will be
(a) Rs.1,00,000. (b) Rs.95,000. (c) Rs.93,800. (d) Rs.90,000
9. A bill is drawn on 28th March, 2006 for one month after sight.
date of acceptance is 2-04-2006. The due date of the bill will be
(a) 1-05-2006 (b) 28-04-2006 (c) 5-05-2006 (d) 2-05-2006
10. What is Depreciation?
(a) Enhancement of value of asset
(b) Damage of asset over time period
(c) Diminution in the value of asset due to wear & tear
(d) All of the above
11. Depreciation is charged on
(a) Fixed assets (b) Current assets (c) Both

12. The term ‘depreciation’ in accounting means
(a) Physical deterioration of a fixed asset
(b) Fall in market value of an asset
(c) Allocation of the cost of a fixed asset over its use ful life
(d) Making a provision for the replacement of an asset.

13. In annuity method, the interest is
(a) Debited to the asset (b) Credited to the asset
(c) Either (a) or (b) (d) None of the above

(d) All

(d) Goodwill.

1.]%s 981 & SR WY 5000 w., dd FRIFG fEAr e
TR T8I §AT 2000 %, AP AUSYl & foIQ AT AT R AUl el
3T 1500 ., § o Tl & HH & @1 20 &, ¥ 7 &) |
U g% @ MTAR T BT |
(a) 5500 %. (b) 5480 =. (c) 5700 %. (d) 8300 <.

2.T% 1870 . HT Ud §RI HI Ude Fel § Tordl F 1780 I WAl
TN | SHBT YHTE BT |
(A)90%. & §& ¥¥ 9& R T (B) 90 . & 9% IY T SR
(C) 180 %. & d&% 99 g W (D)180%. W d& 39 €T AT |

3.9 Abe 98 & AFAR 95 N, T W AR gRT fe@r &
R IY ¥ A & A @ & Qifom W <9 @ 9Hg 9 & e #
T STRATT |
(a) FHrEISTA B

(c) ura g

(d) afe 2w & R & @ oifvaw @ral # =2 forar SR |
4.R1bS T8 H 2000 . HT AWAHY 96 AV fIGRT S ET 2| W

I a7 g9 TR U g% ST © 6 HE: 200 . 150 6. 175

®. D AP A B o UG el Y T 3R 600 . BT WK H

ST BRIAT AT I FARR el AT | Abs T8l & AR AT BT

(b) fft TARISH & gd Jde 98

(a) 2150 %.  (b) 2075 %. (c) 1475 =. (d) 1925 %.
5.99 % & U el 9T ® A1 96 UEd B @I BT BRAT 2 |

(a) (b) ST (c)ar < a1 a1 9 (d) IS 7Y |
6.fafm Uz & veaR B |

(a) ora® (b) e () et (d)SwRIE @
7.6 e ... D T TR AT YR FHT ST 2 |

(a) fgfar (b) FdIHEr  (c) SrTaRYT (d) @ &

8.frr % A & 100000 ® & AA = fOrAr A B o5 ufoera
geel ueM w7 frar @1 e fafra fQum foes @
IR T | faer &1 = Bl |
(a) 100000 % (b) 95000 % (c)93800%  (d) 900000%
9.7% fdal 28 ATE 2006 B T & TP A8 yTad & foy forar |
Wil @1 Ay 2 silet 2006 81 a8 @1 <7 fafdy i)
(a) 1 5 2006 (b) 28 3r¥iat 2006 (c) 5 @S 2006 (d) 2 HE 2006
10. B R T ?
(a) wufd & oo ¥ 9fg (b) T7g diaw & w1 wEfa | forrae
(c) wwf # forarae @ SR\ fed & o0 H S
(d) Sigaa @+ |
11. 9 % 9 5| w3 =t {5 Sar 2—
(a) wm wwfa  (b) =g wHafed  (c) &
12. oEidT ¥ B &1 ek
(a) To zemft wHfa o1 e s
(b) Trufed & IR Iod # fRmae
(c) Rl Fwfcd & AN & 396 YIS Siad & §/9 deart
(d) T=fed & g5 & forT W s+ |
13. arffast fafyy % =@t 2—
(a) Twafed @ # Sfae
(c)yarsrarg

(d) = o=

(b) wwfea @rd & Bfee
(d) ®1E & |
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The term ‘depletion’ is used in relation to assets is

(a) Fixed (b) Current (c) Wasting (d) Intangible
Obsolescence of a fixed asset would indicate a decline in its
value owing to

(a) Wear and tear (b) Fall in the market price

(c) Inventions and innovations (d) All the above.

Whenever errors are noticed in the accounting records, they
should be rectified.

(a) At the time of preparation of the trial balance.

(b) Without waiting the accounting year to end.

(c) After the preparation of final accounts.

(d) In the next accounting year.

An amount of Rs.200 received from A credited to B would
affect

(a) A/c of Aand B.(b) A’s A/c (c) Cash A/c (d) B’s A/c
Unintentional omission or commission of amounts and
accounts in the process of recording transactions are known as
(a) Frauds. (b) Misinterpretation.

(c) Errors. (d) None of the above.
“Treating a revenue expense as a capital expenditure” is an

(a) Compensating errors. (b) Errors of principle.

(c) Errors of omission. (d) Errors of commission.

If an effect of an error is cancelled by the effect of some other
error, it is commonly known as

(a) Errors of principle. (b) Compensating errors.

(c) Errors of omission. (d) Errors of commission.

The debts written off as bad, if recovered subsequently are

(a) credited to Bad Debts Recovered Account

(b) credited to Debtors Account.

(c) debited to Profit and Loss Account

(d) None of the above

A withdrawl of cash from business by the proprietor should be
credited to:

(a) Drawings A/c(b) Capital A/c (c) Cash A/c (d) None

If two or more transactions of the same nature are journalised
together having either debit or credit account common is

(a) Compound journal entry.  (b) Separate journal entry.

(c) Posting. (d) None of the above.
The left side of an account is known as and the
right side as

(a) Debit, credit.

(c) Liability, asset.
Cash book is a form of
(a) Trial Balance. (b)Journal. (c) Ledger. (d) All

Which of the following errors not revealed by the Trial Balance:
(a) compensating(b) commission; (c) balancing (d) totaling
After preparing the trial balance the accountant finds that the
total of the debit side is short by Rs. 1,000. This difference will
(a) Cr to suspense A/c (b) Dr to suspense A/c

(c) Adjusted to any of the debit balance A/c

(d) Adjusted to any of the credit balance A/c

Suspense A/c dr. balance Rs. 2000 in trial balance, recorded in
(a) Liability side of balance sheet
(b) Asset side of balance sheet
(c) Profit & loss account Cr side

(b) Credit, debit.
(d) None of the three.

(d) None
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“Raciiaxvr oreg” fh wwfed & awie § ganT gram 27

(a) o (b) e () errsier  (d) ot

g FHfd &7 T R & Hod § BHl BT YSRid dRar &
(a) M &= ¥ oy ITM & BROT

(b) IR g # fRTEE & RO

(c) efaspR T TEFIHRET & SR (d) Sugad |

Sq o Tl B OEieT odl § ual @edr ¥ S guR
BT @T2Y |

(a) aoUT T & T R

(b) @i a¥ & WA B & SR & a7

(c) siftm @1d a9 & 91 (d) 3Tl TEid Iy H

T U 200 . DI AR T DI S B & TR GG ST
(@) T @ &1 &1 @ (b) T &1 @ (c) Aws @rar  (d) @ &1 @
IR—S1ET o T IR BT MY W oAl B fo S @l
gfar § S I 2 |

(a) wue (b) et (c) e (d) @1g =&
T 3T WY & R UH YolRTd @ P TRE" B IAMER0T 2 |
(a) sfrgfe wTorch (b) Rer=r a1 orgfir

(c) [t 1 *ryfe (d) o @ argfy

U el BT ydEg fHA g el gRTOFRET @R <
ATIROTTAT BT 3TfE et & |

(a) frer @ (b) erforgfct (c) et @t (d) erg =1
3raferRad @1 TS gad T BT AR, ST BT SRAAT

(a) Sga 0T agel @ H (b) &R @ra #

(c) er—eT @ # (d) 1S =&l |

qa § ¥ Aferd gRT Ml 18 Jds o @ § o @l
S =RY |

(a) amexvr @ran(b) ot @@ (c) Iws @r@ar  (d) BE 9
gfe g € UHfa & T AT & W AWP e Bl Ub AT Bl
iy B SR | A a9 R ST Ear S 8, ST ST ©

(a) wg& et ufafte (b) gore S+ ufafie

(c) == (d) SRIaT & & ®Ig T2

TP Q@ & 9T U&T ... P AH A TT TR UeT ... B A q
ST STl 2 |

(a) sfde, Bfse (b) Bfee, Sfie(c) T, wwka (d) o8 ==&
JIPs 981 fhadr d urey &

(a) Toue (b) St (c) @rar (d)SwRraw |
ffoRad # SR AR BT Hourdd Tolue gIRT T8 BT

(a) erfargfct sregfe (b) e 1 srfe

(c) To @ &1 TAd A9 Npre(d) Th @ & TAd SIS
TAUC 991 © d1% T@IPR Bl Udl oral & b Sfae uer &1 I
1000 %. ¥ HH T TAT| IR Bl oo
(a) e @ § o (b) wer @ & 7

(c) fp=ir ot = AW @ & TR (d) f=dt 6 S 9w @ #®
M

TAUC # W™ W BT Sfae AT 2000 . fhad forar S|
(a) frgs & < uer # (b) Tgc & wwufed uer #
(c) ami—=1 @ @& ST vt | (d) B T8
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A started business with Rs. 20,000 cash and Rs. 11,000 stock.
sales & purchases were Rs. 10,000 & Rs. 5,000. Total sales and
purchases amounted to Rs. 70,000 & Rs. 50,000. Outstanding
creditors were Rs. 15,000 and Debtors Rs. 25,000. Expenses
paid Rs. 17,000. Machine was purchased for Rs. 10,000 out of
which Rs. 8000 has been paid. Trial Balance total will be Rs------
(a) 1,18,000 (b) 1,20,000 (c) 1,25,000 (d) 1,40,000
Mohan started business with Rs. 10,000.00 cash and Rs.
2,000.00 furniture. Sales amounted to Rs. 50,000.00 including
Rs. 5,000.00 cash sales. Rs. 10,000.00 sales were outstanding
at the end of the year. Purchase amounted to Rs. 30,000.00
including Rs. 10,000.00 cash purchases Rs. 15,000.00 has been
paid to creditors. Expenses paid during the year 19,300. Trial
Balance total will be Rs

(a) 67,000.00 (b) 70,000.00 (c) 75,000.00 (d) 80,000.00
Trial Balance is prepared according to ............. method

(a) Total (b) Balance (c) both (d) All

The equality of debits and credits of the does not

mean that the individual accounts are also accurate.

(a) Bank reconciliation statement. (b) Cash book.
(c) Trial balance. (d) None

The Bank Account of Mukesh was balanced on 31st March, 2006.
It showed an overdraft of Rs.50,000. It was observed that one
cheque amounting Rs.20,000 deposited but not collected by bank
till 31st March. Bank charges of Rs.500 were also charged by the
bank during March but accounted in the book of Mukesh on April
4, 2006. The bank statement of Mukesh shows balance of:

(a) Rs.70,500 (b) Rs.69,500 (c) Rs.70,000 (d) Rs.50,000.
X of Kolkata sent out 2000 boxes costing 100 each with the
instruction that sales are to be made at cost + 45%. X draws a
bill on Y for an amount equivalent to 60% of sales value. The
amount of bill will be

(a) Rs.1,74,000 (b) Rs.2,00,000 (c) Rs.2,90,000 (d) Rs.1,20,000
Which of objectives achieved by providing depreciation?

(a) To provide fund for replacement of the assets

(b) To show asset at its reasonable value
(c) To show correct profit and loss

Book value means

(a) Expected sale price (b) Current market price

(c) Value in the books of A/c  (d) Original acquisition price.
Material costing Rs.700 in the erection of the machinery and
the wages paid for it amounting to Rs. 400 should be debited
(a)Material A/c (b) Wages A/c (c)Purchases A/c (d)Machinery A/c
If total of all debits of a ledger A/c is more than total of all
credits of same account, then the balancing figure is placed at
(a) Dr. side of that ledger A/c (b) Cr. side of that ledger A/c

(c) End of ledger A/c as footnote. (d) None

An invoice of Rs. 560 is entered in the Sales Account as Rs. 650.
The total of the Debit Side of the Trial Balance is Rs. 21,440.
Assuming no other error, total of the Credit Side of the Trial
Balance is Rs

(a) 21,240 (b) 21,350 (c) 21,530
A Trial Balance contains the balances of
(a) Only real A/c (b) Real A/c and Nominal A/c
(c) Personal A/c (d) Both (b) and (c)

(d) All

(d) 21,620
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T 20000 . JPHS TAT 11000 . WLIH & AT JGAR YH BT
2| Fhe fIeT IR T 10000 ®. 3R 5000 . | G AFT iR
%I 70000 AR 50000 . AT| FHMRT &R 15000 B T AR
25000 & | PR T WY 17000 ., 10000 . & ford HLMH @RI
T e foR) 8000 %, AR T | TeTUT BT AN BT |

(a) 1,18,000 ®.(b) 1,20,000 %.  (c) 1,25,000 %. (d) 1,40,000 %.

HIET 10,000 HS, 2000 PT HHIER, B A FaAR Y BT © |
faga IR 50,000% S FH 5000 & He faa wfiiad 21 10,000 %
F1 fdPd 99 & oFd H I AT BY AR — 30,000 ® oA
10,000 % Tha BY AMMAA © | 5000 &R B bR T | a9 B
3R 19,300 ® & Wd PR T, TAYC BT ART BN |

(a) 67,000 (b) 70,000 (c) 75,000 (d) 80,000
qIe @ STER 1S I B |
(a) e fafr  (b) ¥w AT (c) Bt @ AW AT (d)SWRiad w1

.......... @ Sfdc g »fee M 8F &1 98 #ded F8 8 & 9 @rd
BRI Y BT

(a) 9% AR fdaRer (b) Aws 981 () doaue  (d) BIS &
B BT 4 WA 31 A9 06 PI 50,000 . BT AEAHY W ©
| I qertar 8 f% U 20,000 %. &1 AH ST HAT TAT oAfd 31
qrd T AUfRd el B3| HE & SR 4P §RI b A 500 .
Tl W PR o | R GBI B YIDT F T 4 AU 06 Pl
B3| b3 BT dp fda=oT WY S0 &

(a) 70500 %. (b) 69500 . (c) 70000 . (d) 50000 .
DIAGI & Tad 7 100% U AFTd & 2000 dfad woi 59 e
@ e fb faea o + 45 ufdwra W fbar ST 2 | vt | arg
wR ey qea @ 60 ufaed & ey IR & fou e A
forar | faar @1 wifer 8rf |

(a) 174000  (b) 200000 (c) 290000 (d) 120000
o= # 5 e &1 o= & T 8™ o mrar ST 82—

(a) wHfcd @1 9gem & fog @Iy &1 i S

(b) TRl @1 a¥gel IFY Hod WR e S

(c) =& ami—e1f faam & forg |(d) Sugaa w4
TEIBT T BT 31ef 2—

(a) srgeta e e

(b) =1 IR 1 Ife 39 WHA WIS SR

(c) geaara ol ® i e fw T B |

(d) arfa® SifeRIger orTa |

A BT RAUAT R AR BT AW 700 . AR 39S o) bR
T 7GR 400 . 59 @ # 99 @ S AR |

(a) Tt @ran(b) AsTgRl @it (c) ®u @rar (d) FE @rar
Ife UF @A &1 e geT &1 AT S W b Bfse uE & AT
¥ ¥ B AT YUY @ SIRAT |

(a) @ & Sfde v # (b) @ & Bfee et ®
(c) @t @ 3id ¥ edle & ®U §  (d) BIS 7L

560 . & dotd @1 wfafie A @ # 650 %. A & WA | ToAuC
@ SfdC UeT BT AN 21,440 /. € | Y8 A g B PR AR
3Yfg 71 €, qoUC & HST U&T FT AT BN

(a) 21,240 %. (b)21,350%.  (c)21,530%  (d) 21,620 %.
Tee # =T 99T BT e BT 2

(a) Baar arafad @rar (b)ar<fas @rar @ AHAE @1
(c) =fara @rar (d)emisaw
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